Summer Week 3 Maths Lesson 1
Can | solve 1 diqgit x 2 digit multiplications?

Red
1) 15x 3 = HTO T :
15 2| 2
X 3 3|3
4|4
55
6|6
7|7
2) 21 x4 = HTO 2| s
2 1 qq
X 4 10[10|20(30| 40| 50| 60|70|80
3) 32x2= HTO
3 2
X 2
4) 54 x5 = HTO
5 4
X S
5) 40 x 3 =
6) 18 x 4 =
7) 44x 8 =

8) 56 x 7 =



Summer Week 3 Maths Lesson 1
Can | solve 1 diqgit x 2 digit multiplications?

1) 18 x 4 = HTO

2) 44x8 = HTO
4 4

3) 56 x7 =
4) 61x6=
5) 59 x 4 =
6) 91x7 =
7) 38x7 =
8) 49x 8 =

Green

1) 91x7=
2) 38x7 =
3) 49x 8 =
4) 97 x 6 =
5) 8x 57 =
6) 7x29 =
7) 6x 97 =
8) 7x38 =



